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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Define cost accounting.

2. What is profit centre?

3. From the following calculate the cost of goods sold:

Cost of production `1,83,000; opening stock of finished goods `71,500; closing stock of     

finished goods `42,000.

4. In the reconciliation between cost and financial accounts, one of the areas of differences is different 

methods of stock valuation. State with reasons, in each of the following circumstances whether 

costing profit will be higher or lower than the financial profit.





Items of stock                                   Cost valuation                     Financial valuation










                                                                    `                                        `             

i. Raw material (opening)                        50,000                                60,000

ii. Work-in-progress (closing)                   60,000                                50,000

iii. Finished stock (closing)                       50,000                                60,000

iv. Finished stock (opening)                      60,000                                50,000

5. What is ABC analysis?

6. Find out the economic ordering quantity from the following particulars:

a. Annual usage: `1,20,000

b. Cost of placing and receiving one order: `60

c. Annual carrying cost: 10% of inventory value.

7. In a company weekly minimum  and maximum consumption of material  A are 25 and 75 

units respectively. The  re-order quantity as fixed by the company is 300 units. The material is 

received within 4 to 6 weeks from issue of supply order. Calculate maximum level of material A.

8. What do you understand by labour turnover?

9. The firm employs five workers at an hourly rate of `2.00. During the week, they worked for four 

days for a total period of 40 hours each and completed a job for which the standard time was 48 

hours for each worker. Calculate the labour cost under the Rowan method of incentive plan 
payments.

10. Define overheads.

11. Find out the amount of rent apportioned to each department:




Rent: `8,000 


 Space occupied by departments: 





A - 100 SQ feet,      B - 200 SQ Feet,         C  - 300 SQ Feet,           D - 400 SQ Feet.

12. The under mentioned details relate to the quarter ended 30th September 2010:



Works expenses  ` 80,000


Finished production 18,000 units


Work-in-progress (50% complete) 4,000 units


Ascertain overhead absorption rate per unit of production.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.

13. From the following information, prepare a cost sheet for the month of January.




   `


Stock of raw materials on 1st January
25,000






Stock of raw materials on 31st January
26,200



Purchase of raw materials 

21,900



Carriage on purchases
  1,100



Sale of finished goods
72,300



Direct wages
17,200

[image: image1]

Non-productive wages
     800



Direct expenses

  1,200



Factory overheads
  8,300



Administrative overheads
  3,200



Selling overheads

  4,200
14. A company maintained separate cost and financial accounts, and the costing profit for the year 2001 

     differed to that revealed in financial accounts, which was shown as `50,000.

     The following information is available.

   


(i)                                                                         Cost Accounts          Financial Accounts

                                                                                            


              

           `                                `
    
 Opening stock of raw materials                                        5,000                   5,500

     Closing stock of raw materials                                         4,000                   5,300

     Opening stock of finished goods                                    12,000                  15,000

     Closing stock of finished goods                                      14,000                  16,000

   (ii) Dividends of `1,000 were received by the company.

  (iii) A machine with net book value of `10,000 was sold during the year for `8,000.

  (iv) The company charged 10% interest on its opening capital employed of `80,000 to its process 

         costs. You are required to determine the profit figure which was shown in the cost accounts.

15. The stock of material A as on 1st June, 2001 is 500 units at Re.1 per unit. Following purchases and 

       issues of this item were made subsequently:

                                          Receipt Quantity                  Rate per unit       Issue Quantity

                                                (Units)                                 `                     (Units)

      June 6                                   -                                           -                        200

      June 10                               400                                     1.10                       -

      June 15                               300                                     1.20                       -

      June 20                                 -                                           -                         500

      June 21                                 -                                           -                         200

      June 24                               500                                     1.30                        -

      June 25                                 -                                           -                         300

      June 28                                 -                                           -                         200  

     Prepare a Stores Ledger Account showing how the value of the above issues should be arrived under   

    the Base Stock Method when it operates in conjunction with LIFO. Base stock is 200 units.
16.  The following information regarding receipts and  issue of pigments has been obtained from the 
       Stores record of a paint manufacturing factory:

                                                    (in kgs.)
      October, 2001

a.  Opening stock of pigments                                                                         25,000 

(There were no issues or receipts during the last week of September)

b.  Issued on Requisition No. 1                                                                        13,000 

c.  Issued on Requisition No. 2                                                                          2,000 

d.  Received from a supplier by Challan

No. 13 of 3-10-2001 (as per stipulated date of delivery)                                30,000 
e.   Issued on Requisition No. 3                                                                        10,000

f.   Issued on Requisition No. 4                                                                          5,000

g.  Received from a supplier by Challan No.48                                                  10,000 

h.  Issued on Requisition No. 5                                                                          4,500


      Examination by the stock verifier on 6th morning revealed a shortage of 


500 kgs.



Maximum limit was                                                                   




                 50,000



Minimum limit was




                                                                       
                8,000



Ordering level was                                                                                       25,000
     Your are required to prepare Bin Card No. 36 for the item pigment for which the Symbol allotted 

      is X-40.                                                                               
17. Calculate the normal and overtime wages payable to a workman from the following data:

                       Days                                                   Hours worked

                   Monday                                                        8 hrs.

                   Tuesday                                                      10 hrs.

                   Wednesday                                                   9 hrs.

                   Thursday                                                    11 hrs.

                   Friday                                                          9 hrs.

                   Saturday                                                      4 hrs.

                   Total                                                          51 hrs.

                   Normal working hours                                  8 hrs. per day

                   Normal rate                                                `1 per day

         Overtime rate  up to 9 hours in a day at single rate and over 9 hours in a day at double rate;

         or up to 48 hours in a week at single rate and over 48 hours at double rate whichever is more 

         beneficial  to the workman.  

18.   Kumaresh Ltd., has three production departments 'A', 'B', and 'C' and two service departments 'D' and 'E' 
   The following figures are extracted from the records of the company:                                                                         

	
	`

	Rent and rates
	  5,000

	Indirect wages
	  1,500

	Depreciation of machinery
	10,000

	General lighting
	     600

	Power
	  1,500

	Sundries
	10,000


      Following further details are available:

	      
	Total
	A
	B
	C
	D
	E

	Floor space in square feet
	10,000
	2,000
	2,500
	3,000
	2,000
	500

	Light points
	60
	10
	15
	20
	10
	    5

	Direct wages (`)
	10,000
	3,000
	2,000
	3,000
	1,500
	500

	H.P of machines
	150
	60
	30
	50
	10
	-

	Value of machinery (`)
	2,50,000
	60,000
	80,000
	1,00,000
	5,000
	5,000


        Apportion the cost to various departments on the most equitable basis by preparing a primary

        departmental distribution summary.

19.   Calculate the overhead allocable to production departments A and B from the following:

  There are two service departments X and Y. X renders service to A and B in the ratio of 3:2 and Y 

  renders service to A and B in the ratio of 9:1. Overhead as per primary overhead distribution is: 

  A - `49,800;    B - `29,600;    X - `15,600;     Y - `10,800.
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20.  The following is the manufacturing profit and loss account of Raj Manufacturing Co. for the uear ended 
      31.3.93, output 850 units.

	                 Particulars
	`
	Particulars
	`

	To Materials 

To Wages

To Works expenses

To Salaries

To Office expenses

To General expenses

To selling expenses

To Net profit
	64,000

96,000

40,000

48,000

8,000

24,000

16,000

24,000
	By Sales
	3,20,000

	
	3,20,000
	
	3,20,000


           
 For the year ending 31.3.94, it is estimated that:



(i)    Output and sales will be 1,000 units.



(ii)   Material price will increase by 25%



(iii)  Wage cost will increase 12.5%



(iv)  Works expenses will increase in proportion to the combined cost of materials and wages.



(v)   Selling expenses per unit will remain constant.



(vi)  Other expenses remain constant.



(vii) Profit of 12.5% on sales is to be made.


  Prepare a statement of cost and profit for the year and estimated costs and profit for the next year

21. From the following particulars, prepare stores ledger by adopting Simple and Weighted  average    

 methods of pricing  of  material issues.



 


       Date




                             Receipts                                                  




Issues

     2010  Jan. 

1             

300 units at `10 per unit

      

             10             200 units at `12 per unit

                   12             400 units at `11 per unit

             

      15                                                                                 250 units

 

                  16                                                                                 150 units

  
                 18             200 units at `14 per unit


                   20                                                                                 300 units

             

      22             300 units at `15 per unit

             
      25             100 units at `16 per unit

             

      27                                                                                 200 units

                   31                                                                                 100 units

22. Calculate the earnings of workers A, B and C under straight piece rate system and Merrick's piece rate 

   system from the following particulars:

   Normal rate per hour                                         `1.80

   Standard time per unit                                       1 minute 

   Output per day is as follows:   Worker A - 384 units;   Worker  B - 450 units; and Worker C - 552 units

   Working hours per day are 8.

23. The following annual charges are incurred in respect of a machine in a shop where manual labour is 

   almost nil and where work is done by means of five machines of exactly similar type of specification:

                                                                                                                                       `

      (i)   Rent and Rates (proportional to the floor space occupied) for the shop                4,800

      (ii)  Depreciation on each machine                                                                              500

     (iii)  Repairs and maintenance for the five machines                                                  1,000

     (iv)  Power consumed (as per meter) @ 5 P. per unit for the shop                               3,000

      (v)  Electric charges for light in the shop                                                                     540

     (vi)  Attendants:

            There are two attendants for the five machines and they are each 

            paid `60 per month.

    (vii)  Supervision:

             For the five machines in the shop there is one supervisor whose emoluments 
             are `250 p.m.

   (viii)  Sundry supplies such as lubricants, jute and cotton waste etc., for the shop            450

     (ix)  Hire-purchase instalment payable for the machine (including ` 300 as interest)   1,200     


The machine uses 10 units of power per hour. Calculate the machine hour rate for the machine

for the year.
—————

[P.T.O.]
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